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(]
M I PARE O
ae fawrawa sy yam CHILD DEVELOPMENT AND COGNITION

fafafaa 4 2 v =1 ) F1 @ 1. Which of the following is the method
faafey & 2 of memorisation ?
(1) fafam faty (1) Mixed methed
(2) FEaae fafy (2) Association of Ideas method
(3 (1) 3R (2) == (3) (1) and (2) both
(4) = BT Al (4) None of these
Yoo 3 ded ¥ sl 2. g“"lg.". edhﬂg expounded  the
o frry onditioned-Response Th f
?ﬁ'a‘r‘ﬁ:: i W Leaming by coxfdoucting exe:ezmeﬁ:
on .

(1) @ 2 T (1)" Rabbit (2) Mouse
3) T 4) Tassh (3) Dog (4) Cat
e e o 3. Learning curves are indicator of
(1) ﬁ\w#ﬂﬂmﬁfﬁ;mri : g; progress in leaming

, originality in learning
(2) ﬁmﬂ;ﬁﬁﬁmtqmtl (3) dynamic character of learning
(3 et ﬂwﬂ*ﬁfl (4) creativity in leaming
(4) WrE B EAITEa & gaw ¥ |
AT F GHG IAME F) Prefsfaa 4. While teaching, which of the
% @ forge waifis v @ T following should predominantly be
(1) fewmas kept in mind by the teacher ?
(2) famfrgt =t amg (1) Subject matter
I o — (2) Age of students
& _ (3) Individual differences
(4)  fomfat 2 witafes yengfy (4)  Family background of students
FeATT & AR, W ¥ A wRady 5. According to Kurtlewin, the changes
iR w}l'll:]; take place within a group arc
(1) e Fea | T &

(1) reciprocit

(2) TN R E (2% cm‘:ivnyy
(3) it eren w € 1 (3) dynamism
4 frs@E (4) cohesiveness
s @R st ¥ e 6. Mental health and are very
Ty closely related.
(1) afrghy (2) atwrm (1) attitude (2) acceptance
(3) ==’ (4) TR (3) avoidance  (4) adjustment
Fa F a9 sfomeat 8 afies 7. Which of the following provides
T dm & 7 more freedom to leamers ?
(1) wraEn (1) Structuralism
(2) froeemen (2) Functionalism
(3) wEEREY (3) Behaviourism.
(4) Yorviieara (4) Constructivism
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(1) wifssm (2) vare
(3) fumsfaar (4) Ivaifmmn
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Fhidd Mosine NMuaodel of Intelhigena
was piven by
() Cattell
(3)  Thurstone

Guilford
Spearman

(2)
(4)

Which of the following is most
preferred quality of a measuring
tool ?

(1) (2)
(3) (4)

Thurstone and Lickert are associated
with measurement of

(1) Intelligence (2) Attitude
Values (4) Personality

Reliability
Objectivity

Validity
Norms

Test of Inquisitiveness is a component
of

(1)  Creativity (2)
(3) Interest 4)

Which of the following is not
associated with Creativity ?

(1) Originality  (2) Fluency
(3) Economy (4) Utility

Motivation
Intelligence.

Gagne is associated with which of
the following ?

(1) Hicrarchical Order of Leaming
(2)  Theories of Leamning

(3)  Evaluation of Leaming

(4) Management of Learning

Which of the following is true about

1.Q?

(1) Inversely related to Mental Age.

(2) Directly related to
Chronological Age.

(3) Inversely related to

Chronological Age.
Directly relatedl to both Mcntal
and Chronological Age.

16-PF is used to measure which of
the following ?
(1) Creativity
(3) ° Personality

(2) Interest
.(4) Stress
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Chess and Cards can be elassified as
(1) Fighting Play

(2) Intellcctual Play

(3) Experimental Play

(4) Movement Play

The best suitable place for cognitive
development of child is ;

(1) Playground
(2) Auditorium

(3) Home

4 Schpol and classroom
environment _

What are the sources of motivation ?

(1) Need ; (2) Drive

(3) Motives '(4) Interest

Permanent changes in behaviour with
practice is called

(1) Leaming (2) Thinking
(3) Doing (4) Imagine

Which factor is not related with
memory as mentioned below ?

(1) Recognition (2) Retention
(3) Recall (4) Fecling

Motivation Theory of Maslow is
called ot '

(1) Principle of Need

(2) Physical Principle

(3) Strong Will Power Principle
(4) Principle of Drive

Which one leadership style is better
in a schodl for the head teacher or
senior teacher *

(1) Authoritarian leadership

(2) Democratic leadership

(3) Laissez fhire leadership

(4) None of the above

“Investigation of laws of mentsl
health and maintains” was focused of
(1) Sheifr =~ (2) Headfleld

(3) Drevér *(4) Ladell - -
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(1) vt sy
(2) weftesrlt srry
(3) wirafier s
(4) whresfr iy

R L ——

w0 tnd orid § e
(1) wmmd  (2) wmmw

(4) Remd

(5)

GETITON
Google Play

W

24. Which period of developmant s
called. *A period of great slress and
strain’ ?

(1) Adolescence (2) Adulthood
(3) Middle age (4) Old age

25. Attitudeisa
(1) Cognitive concept
(2) Conative concept
(3) Affective concept. |
(4) Alltheabove 1. s

i 5k h"w Ta BB 1

26. According ogis;l

intelligence i 13 .
€1) the abllitytolwn. '

Q) capmtytocarryonabstmct
thinking.

(3) either (1) or (2).
(4) both (1) and (2).

27. Motivation has the same relation

with achievement as leaming has °

with
(1) reasoning (2) thinking
(3) understanding (4) discernment

28. Thomdike ‘has classified the,
personality on the basis of
(1)  physique and appearance
(2) creativity and originality
(3) adjustment and inte'ligence
(4) thinking and imagination

29. Which one is the theory of forgetting
from the following ?
(1) Compeﬁtivo inhihition
(2) Retroactive inhibition
(3) Instructed fnhibitioh
(4) Reflec tion

30. All of the following show ﬂm of
mental disordet except !

(1) Prustntion (2) Tension
(3) Relation  (4) - Anxiety
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PARL-IN
FLANGUAGE-2 ENGEISH
Candidates should answer the questions from the following part only if they have opted

for ENGLISH as LANGUAGE - 2.

61. Choose the most appropriate 68. Identify the correct reported form of -
meaning of the given phrase. the given sentence :
‘Fabian policy’ My friend said. “You must accept
(1) Dictatorial policy this gift."
(2) Democratic policy (1y My friend asked that I must
(3) Market policy accept that gift.
(4) Policy of using gradual reforms (2) My friend said that you must
62, What ?doeu the following sentence 3) ﬁ; !ggtr%'{u'med that Toiust
mean ' I
accept this gift.
S gL et e Wil 1p @) My Hiend msisted that 1 must
(1) Nehruji woke up early in the 69. What i noun of tisword ‘Pedagogic’ ?
ggi I&_ehr‘u{; m punctual ) peaag.?ﬁﬁi}"’_
en carly. 3) Ped
4 ggi mtil:t wake up early jn the v 4 N%rl\aegg ttl}‘:e above
: s 0ose te answer :
63. Synonym of the word What is ?haep%ri‘:tl:?aueuth o?school
‘lajolg i 8 a:l)ucat}ig;hin India ?
oax vince i uality teachi and
E3; Congratulate (4; Clarify !t‘.amingfl y hmg
64. Which is not a quality of good (2) Emphasis on memorisation and
handwriting ? completing a pre-determined
(1) Legibility syllabus. ,
(2 gistinctiveness 3) ch"’CfI“mc“‘ ﬁmd c'{)‘]P“"me
3 acing schools are equally good. _
(4) Absence of uniformity in the (4) Every child in school is paid
size of letters | attention for his growth.
65. Remedial teaching involves ki l‘\_ﬁnc the poct of the poem.
1) teaching and testing eSohtarT Rcapes
§ testilr:g continuously 5 Egits e
teaching, testing and reteaching ATH
- gf_lh riga\c:hin c(i:i{‘l'llc‘:lu t topics i i &;&?@Wordswoﬂh
g e Right o ildren to Free an
Compulsory  Education Act_was Gl A
propos the Indian Parliament on Th
459August 2009. When did this law hisehg:(;s TR & Tanocae l.mmd
come into effect in India except the 1) 1 2) 2
Sltnte g&lm ag%ol(guhmir? E3; 3 {4; None
u 73. 'Y
§ {: Jmﬂl b%gm yo:u are prob?-bly sleepy, because
4 1" uly, '2010_/ ?m:tﬂie&oﬂ n?lmrriate answer)
67. oose the correct answer : ; 2 wennut ﬁ,% Iu:ch
What is rote léaming ? 3) ‘ate too much chocolates
(1) Mechanical or habitual leamin 4
R watched a movie
without understanding p y- 74. ng Lear’ was written by .
(2) Leaming with great*zeal and 1 engyson
enthusiasm, 2) William Shakespeare
(3) Leaming without interest. 3) G.B. Shaw
4) T.S. Eljot

(4 NII‘M of above
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76.

71.

78,

9.

81.

lmnl'u'rll!} et wond
(1) Microscope (1) Opague
(3 (4)  Monarchy
Verb of ALTERNATION

(1) Altemative

(2) Alteration

(3) Ablemate

(4) Altematively

Certain parts of the following sentences
have been underlined and marked.

Pick owtth

Mosaice

Select the part containing an error :
This is not the first time
(1) (2)

I am hearing of your insubordination.
(3) 4 |

In the given two sentences, select
from the answer choice the word
which has the same meaning and can
be used in the same context as the
undcrlined part of both the sentences:

(i) The organisation was
established at the beginning of
this century.

(ii) The little girl could not twist
the cap off the bottles.

(1) Crack (2) Break

(3) Loosen (4) Tumn

Choose one word for the following
expression :

“At sixes and sevens’

(1) Scattered (2) Under control
(3) Foulorfair (4) To apologise
Fill in the blanks by choosing the
most suitable word given below :

Much that was in ancient
Indian culture has already perished.
(1) useless (2) violent
(3] religious (4) prevalent

“Lines ¢composed a few miles above
Tintern Abbey” is a poem composed

- by which poet ?

William Butler Yeats
Edgar Allen Poe

Samuel Taylor Coleridge
William Wordsworth

(1)
(2)
)
4)

N

83.

8S.

GET IT ON
Google Play

W
Choose the correct Synonym for the
word given below :

Treason
(1). Disloyalty (2) Passion
(3) Miserable (4) Disappear

Choose the correct Antonym for the
word given below :

Debtor

(1) Reluctant 52) Rigid

(3) Static 4), Creditor
Form verb from the Noun gwen
below :

Dependence '(2

(1) Dcpﬂldmt DW .
(3) Dependab) '?(4; - Dependet:y..
“Indian Weavers” is a posn written
by wﬁ.:::h o?the following ? :

‘(1) Sarojini Naidu

(2) Cecil Spring Rice

(3) Charles Mackay

(4) Ralph Waldo Emerson

Find out the word that conveys the given

meaning (86 & 87) :
86. To make more rapid in speed
(1) - Speedier (2) Accelerate

87.

90.

(3) Affianced (4) Abdicate

Mental weariness from lack of interest l
(1) Exile (2) Ennui

(3 Enunciate (4) Expiate

Find out the g;mnunatically wrong
sentence :
(1)¢ He feels bad about the defeat,
(2) All the boy scouts wear half-
pants.
(3) He hoputomegoodmlth
(4) Gavaskar is the Bradman oﬁ,
India. x ,
Su ply the cortect preposition in thl
oﬁngcm Spenser
preter ucer
in reading Engllth 1

1) than /
%3; to m intg

Find out the mmatlully wmn;
mmlf:t tmy:lnahln
me “
2; mcﬁhnnﬂn
He examined the book

mchuminuwldp

n-n.
g

z- zl‘
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e FrAiaiae MITT 3 S 3 3 et vl & a1 30 TITOTH G Oy oot et T |

Candidates should answer questions from the following part only if they have opted for

MATHEMATICS & SCIENCE.

91. P ¥ R aawer TR st ?
(1) 2k P an
(2) 2 vt o = o at

(3) 2 W «on & v wrag P
4) 1:;1; it 5 & st W

92. & wu Popr F R i
A W OEE, W F T & o
& aa ¥ | o g oy §
(1)15° (2) 30° (3) 45° (4) 60°

93. 100 Wil & WHT=R WreE 50 wer fear
™| AR TR T awgaE w3 w92
F ™F W 30 3T 29 W oEr S
i 2, &t T s o &
(1) 50.20 (2) 50.36
(3) 51.15 (4) 51.45

94. wEm31,4,5,7,8,10, 12,13, 15, 17
& Wy T WA faeea 4.85 ¢ | o
WA §em ® 10 W Rar o @

WETT w9 e whm
(1) 48.50 (2) 485
(3) 048S (4) wAINtA

95, iy fFdt wrolt & it o = T
wrer 40 3t wibet 50 &, at 3w Rt

% et %7 age W T b
(1) 40 (2) 50
(3) 60 4 70

91.

92.

93.

94.

98.

Which of the following has largest
area ?
(1) Acircle of radius /2 cm.
{2; » A square withside2 cm.
3 ?n equilateral triangle of sides

cmi
(4) .A triangle of sides 3, 4 and
5 cm.

In a right angled triangle, the uct
of two sides 18 equal to the half of the
square of the hypotenuse. One of the
acute angle is .

(1)15°  (2) 30° (3) 45° (4) 60°

The anthmetic mean of 100
observations is found to be 50. If at the
time of computations two items are
iwrongly taken as 30 and 29 instead of
3 and 92, The correct mean is

(1) 5020 (2) 50.36

3) S51.15 (4) 5145

The standard deviation of the set of
numbers 1, 4, §, 7, 8, 10, 12, 13, 15, |
17 is 4.85. If 10 added in each
number, then the S.D. of new set is

(1) 4850 (2) 4.85

(3) 0.485 (4) Noneof'these

If the arithmetic mean of all the terms
of a table is 40 and median is 50, then

the mode of this table may be
(1) 40 (2) 50
() 60 - “4) 70

T% H1 & Q9T / SPACE FOR ROUGH WORK
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96. g wdad va wfsa # e W@ owatie 96. The pic-chart bhelow  shows ' (he
| I F WA T 28000 F ) cxpenditure pattern of a person out of
AT TET 4,900 TUA FATRA Ay W HA ¥ his total income ¥ 28,000. If he
? saves ¥ 4,900, then the value of x is
LG A
&)
(1) 136° 2 126°
(3) 63° (4) 45° (1 136° 2. 126°
. 3) 63° 4) 45°
97. TS [ & 0F Wl OF aRue o 2 97. Aman{gnd_l.wommnppwform
T W W e iy wfefe ot € ) . interview, for two vacancies in the
T & Frgeer o1 3 Wi 14 st | same post. The'probability of man’s
TR 1Y I T AT | “{mﬁlg‘wﬁﬂmmt;
. sSC ‘ 1
% Frgeet ¥R 2% v et ¥ 7 that only one of them will be selected 7
(1) 112 (2) 512 (1) 112 (2) 512
3) M2 (4) 1124 YB3) M2 ) - 1724
98. UH WA 75% R, 60% R d | 98 In a class 75% passed in English,
ol @} & 3l 20% BT Pesal T 60% passed in Mathematics and 20%
il gt SR ¥ | 3eftvi e & failed in both the subjects. The pass
) 55% @) 65% percenta%e 1S
3) 67.5% (4) 68.2% {4 ) oyt
(3) 67.5% £ 7 (3) 67.5% 4) 682%
99. A x+y+z=4, 99. Ifx+y+z=4,
x2+y? 422 =63l : x2+y+z2=6and
sty 4zl = iy y, 2 i}t Xlty! 4zl =1, where x, y, z are
Rl Rz wAA all non-zero, then the value of xyz is
M1 @2 @4 .95 M1 @2 @34 @s
100. If | =
100. R log,ga +log,,b = log, (a + b), 7t i °3n|lo i logmfh 1980 (& =8
# 1 Py e @ b en the values of a and b are given
% b %I P aew @ et § by the relation ,
(1) a=bp=] (2) a=bh=3 (1) a=b=] (2) a=b=3
a b , b
) b-m @) a=g—7 (3) b-'l'%-; 4 a=g—7

T% %7 & I W8 / SPACK, FOR ROUGH WORK
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102.

103.

104.

108.

106.

B RS TLEPTOE. PR bc @
Wﬁﬁ"ﬂﬁ‘fh‘.tyz—-lﬂm'ﬂﬁ‘

(1 -1 2) 0
3) 1 4 2
I Rt @ gl gt o AR o

U R T gl ¥ | s amie =W
11.2 ¥ 2 suah ot 21 it 3
U ® W T w w04 Wb ¥
Y] W AT &
(1) 3003

(3) - 31253

(2) 306.2 9P
(4) 32247

A x = 223 + 1443 _ 166 W 5 27V

fsa g

(1) 73125+ R
2) 1naA1IPHFR
(3) 1l 3w23g=iA )
4) 123ARIIFA

W x,y Wz w e AR g
(x -ity)zwﬁw‘ilﬁ‘lﬁhxyﬁﬁ}
X2, y2 e 22 g ¥
(1) A2 (2) 9A2

1

(3) 3A2 @) AT

w7 wemat w9ty 58 & | UEe e
H TH T R AU 4 : 9 vy
e R Al wea w5 9:16% |
et it el s w5 i b

() 40 (2) 29 (3) 28 (4) 50

89%x89x89-3.7x3.7x 3.7
8.9%x89+89x3.7+3.7x 3.7
Wt
(1) 1
(3) 126

2) 5.2
(4) 89x37

(17)

101.

102.

103.

GETITON
Google Play

W

The value of a + b + ¢ satisfying
xyz =1, ifx!8 = y”b =7k g
(1 -l 2 o
3) 1 4) 2

A cylindrical tube open at the both
ends is made of metal. The internal
diameter of the tube is 11.2 cm and
its length is 21 em. The thickness of
metal everywhere is 0.4 cm. The
volume of the metal is

(1) 300 cm? (2) 306.2'cm?
3) 3M25em* (4 3224cm?
If x = 223 + 1443 - 1663, then x is
necessarily divisible by

(1) both7and 12

.(2) both1land13

104,

10S.

106.

(3) both 11 and 23
(4) both12and 83

If the' mean of x, y and z is A and xy
is additive inverse of (v + ¥)z, then
the mean of x2, y2, 22 is

(1) A? (2) 9A?
() :

(4) 3A?
The sum of three numbers is 58. The
ratio of first to second is 4 : 9 and the
second to third is 9 : 16, then sum of
first and third numbers is

(1) 490 (2)29 (3) 28 (4) S0
8.9%89x89-3.7x3.7%x3.7

3A2

89x89+89x%x3.7+3.7x3.7

is equal to

() 1 (2 5.2

(3) 126 4 89x37

% & 1T Y / SPACE FOR ROUGH WORK
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107.

108.

109,

110,

M Ats2

T o & o wes et AABC & el

AB A1 AC smat ¥ | W% =T 1

SEE ADEF s mm ¥ | o

<BFD =a, ZADE = b, ZCEF = ¢, a}
A

D E -
B ¥ C.
M =23 g paiis
G) 'c-!';—.'b' @) c=2(a+b)

2+224222+2222+ ... % n 9§
aw g

(1) %{%Q(lo"-l)-n}
@) -;;{1—90-(10"-1)+n}
é:‘{‘%g(w“—l)—nz}
(4) %}{199(10%1)”2}

¥ 234 ® 7 =Pt A, B s C 3§
111

()

E:E:El-taﬁmﬁa‘tammlw

TR R2: 32 4 & aunr o e P |
mmmmmmm?
(2) B,%3s
3) ATs6 (4) Ctso

T Sl 3 quf vt e

(1) 9999999 (2) 9999768
(3) 9998244 (4) 9998222

S I Y S r—

SPACE FOR ROUGH WORK

(18)

107.

108.

109,

110,

T ON
((;;Egogle Play

Itis given that AB and Ac are the
equal sides of an isosceles AABC, in
which an equilateral ADEF s
inscribed. If /BFD = a, ZADE = b,

<CEF =c, then
D F
B 4 c
M =22 g pate
&) 'c--'f—}! @) c=2(a+b)

Thesumof2+22+222-+2222+
+++- UPLO N terms is

(1) -g-[';—o(m"—n- n}

@ 3{Fao-yeds

Q3) %{l—gquo"-l)—nz}

(4)

Ey mistake, instead of dividing ¥ 234
among three persons A, B and C in
the ratio'zl- : % : ;i" it was divided in
theratio 2 : 3 : 4, who gains the most
and how much ?

1
T

(1) ATSs2 (2) B,t3s

(3) A s6 4 Ctso
The largest number of seven digits,
which is a perfect square, is

(1) 9999999  "(2) 9999768

3) 9998244 4) 9998222
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1.

112,

113,

114,

115,

116.

ﬁﬂﬁﬂ?{aﬂ?ﬂaﬁmmmmam
¥ 500 % A 3799 # w3 w374 @ oy

Qﬁmﬂﬂﬁﬂmmﬁzoar
e iR s

M 5% (2) - 8%

(3) 10% 4) 12%

Qﬂ?iwrrs‘}AaﬁrBﬁ,i%m‘rﬁ-'ah
ﬂmﬁtlmavAﬁBmm?hh’t
mmmmmtmm
mB#Amﬂmmﬂta’tm
aﬂmamuof*ﬂﬁmnatmu{uim
% 359 altww et andt

(1) 9sfriravar (2) 99 Resityquer
() 100 Rerver (4) 102 fei/aver

ﬂﬁx‘+x4—l-=47,ah~‘+;3'—wnﬁ% |
) 9 2 15
(3) 18 4) 27

100 3% 200 ¥ v aR arch 3
#@raﬁa;rma’mﬂfwwﬁ.m
(1) 1665 (2) 1674

(3) 1683 (4) 1692
!r&x=-2+\fi.a’tx1+ﬂ-asrm=1%
() 1 2) 4

3 12 4) 16

21a ~ 17a2, g9y? -64a+6a+ 16
w9
(1) 68a°-47a2+64+ 16

' () 68a’ —47a2 _6a + 18

(3) 682 + 4742 _6a + 16
(4) 682’4702+ 6a— 16

(1Y)

112.

113,

114.

115.

116.

T ON
%Egogle Play

W
The simple interest on 3 certain sum
computes to ¥ 500 in two years and the
compound interest on the same sum at
the same rate and for the same time

@ 12%

A train runs between two stations A
and B, while going from A to B, its
average speed is 90 kmv/hr and while
coming back from B to A its average
speed is 110 km/hr. The average
speed during the whole joumney is

(1) 95 km/r. (2) 99 km/hr,
() 100km/hr.  (4) 102 km/hr,

Ifx* + f; =47, then the value of

X +;lj is

M 9 @ 15 3)13 4) 27
The sum of numbers between 100
and 200 which are divisible by 9 is
(1) 1665 (2) 1674

(3) 1683 4) 1692

If x =2 + A2, then the value of
4

x1+;is

M1 @4 312 @16
How much is 21a - 17a2 Jese than
89a’ - 6482+ 6a + 167

(1) 68a’-47a2+6a + 16

(2) 68a’-47a2-6a + 16

(3) 68a’+47a2_6a+ 16

(4) 68a’-47a2 + 63 16

% %14 % Pg Smw / SPACE FoR

ROUGH WORK
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17.

118.

119.

120.

e R I - ATEVRTE: - I <1 2
W=7 YA A WEH A O w o
TEE

(1) 12000392  (2) 15000 Q=R

(3) 1600092 (4) 25000 A=

o § vigelt F AT H 1 ; 4 W
Fa g AR TR A F 4. 5w
Faa §, 7 I St F e ¥

(1) 2:5 @ 5:4

(3) 15:16 (4) 25:64

10 . @, 6 W = v 225 At

od dar = § feedt @ &R
SavgEHm w, aft wew T W AT
25 Wt x 12 W x 9 W &’ 2

(1) 4500 ~(2) 4800 <
3) 5000 (4) 5500

fas ABCD ¥ AB = BC @41 ZBAD
sl ~BCD wwwy £ 1 AD 3 CD ®
T R BT |

C
B D
A
(1) AD<CD " (2) AD>CD
(3) AD=CD (4 AD=2CD

(P41)]

117.

118.

119.

120.

GET ITON
Google Play

A sphere has a diameter SH\( cm.
The surface area of the 1. gest
possible cube that would it in the
sphere is /

(1) 12000em? (2) 15000 cm?
(3) 16000 cm?  (4) 25000 cm?

The volume of two cones are in the
ratio 1 : 4 and their diameters are
4 : 5, then the ratio of their height is
(1) 2:5 (2) <5:4

3) 15:16 1 (4)" 25164
©) a1 ag"{'

How many brlclu vnll ba required to
construct a wall 10 m long, 6 m high
and 22.5 cm thick, if each brick

measures25cmx 12ecmx9cm ?

(1) 4500
(3) 5000

(2). 4800
() 5500

In the figure ABCD, AB = BC and
ZBAD and ZBCD are right angles.

Find the relation between AD and CD.
C
B D
A
() AD<CD (2) AD>CD
(3) AD=CD (4 AD=2CD

T W8 % T W8 / SPACE FOR ROUGH WORK
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(21 W
121, 340 3 N waA e 2 0 j 121. Which onc is strong acid 7
(1 1,00, (2)  1INO, (1 H,CO, (2) HNO,
(3) CHJCUUII (4) HCN (3) CH,COOH (4) HCN
122. BT Haed o Hems & A0 wE 122. Blood circulation that starts in capillarics
et & & wnra e e &, Feenar & and ends in capillaries is called
(1) gFRg e , (1) Renal circulation
(2) v HE (2) Lymphatic circulation
(3) aFg HEw= . (3) Hepatic circulation
(4) Frafeem dagq (4) Portal circulation -
123. TS P W R Wil e XY 123. Which Isotopes of hydrogen is
(1) :H @ ?_H known as heavy water ? :
3 - () H @ |
() H (4) H@H . gk pey 8
@ H @ !HendlH
124, ol 3w ol & et s 16 = 124. The decimal number 16 in binary
Liof g number is '
(1) 1000 (2) 10000 (1) 1000 = (2) 10000
(3) 1010 (4) 11000 (3) 1010 (4) 11000 |
125. @& 3% fast st it sisg w32 128. A tissue whose living cells form the
Tt M & afaE FaE W et & oiv mechanical tissue of actively
forevat sniftrem fufial o A oo Qegeindt sl growing organs and whose cells ‘
P e e dd E W w b walls show un-lignified Cellulosic
(1) =gt '(2) e zl;l)ckeg::rl\g oﬂc: at ct(:;r)xers gs 'cail;d
erenchyma arenchyma
(3) wEEY T (1) o (3) Collenchyma (4) Pericycle
126. it Foft (oh et & . 126, Numeric key is situated in ;
(1) wHexd (2) w@dgy (1) Monitor (2) CP.U. |
(3) wmtfemd (4) FHagd (3) Harddisk (4) Keyboard f
127. WEge N ¥ qer araga k 127, The main constituents of producer
(1) CO+H, (2) CO,+H, BAS ¥ .
(1) CO+H, (2) CO,+H,
() CO+N, (4 CO,+N, (3) CO+N, (4 CO,+N,
128, Rt & W P v @ firerd & 2 128. Coconut fibres are obtained from
() mmemffe (2) a=rwe fufe (1) Exocarp (2) Endocarp
) wawwffv  (4) s (3) Mesocarp . (4) Seedcoat

T 1Y % (MY W/ SPACE. FOR ROUGH WORK
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129, 2 #
() 3 9 a@ st ¥ deweht
U3 & S |
(2) =r3fam A== wewhe |
(3) I A FW anwt F S
Ut & Far |
(4) I At W I F Ao
U & FFor |
130. S0 Rrafim :
(1) ffm-@t 2 MR-t
) Peftm-v @ @4) fefm-%
131. YreEd [ vt

(1) IR TEmwTRE

(2 TawwEnE TR E
Q) I dmam E )

4) T e @ T E

mmmmt
(1) w 2) TwifmEr

3) (4) Ivfwr A Me
R & Tga s dfrs § wifs

(1) =r us t o ot W
!iﬁmml
(2) 7T wEEEst T T

3) T garefERo 5t afwd |
:4; W d'lﬁmaa?v?a € ik
T oy gy o ¥
Prefefam F @ ¥ @ e @y #

w2

(1) s (@) "=

(3) aw (4) =
W A9 YT iy 2 wer sfisr ot
() Hyhed,

(2 Nyt

(3) Oo,hm¥

132.

133.

134.

138.
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129. Soaps arc

(1) Alkali metal salt of lower fatty
acids.

(2) Dodecyl benzene sulphonate.

(3) Alkaline metal salts of higher
fatty acids,

(4) Alkali metal salts of higher

fatty acids. '

Antisterility Vitamin is

(1) Vitamin-B (2) Vitamin - E

(3) Vitamin-A (4) Vitamin-K

Passwords enable users to

(1) ' simplify file structure.

(2) ' makse efficient use of time.

(3) get into the system quickly.

(4) 'retain confidentiality of files.

Aquatic and insectivorous plant is
(1) Utricularia (2) Dionaea
(3) Drosera (4) None of these

130.

131,

132.

133.

134,

Carbon forms a very lafge number of
It forms covalent bond.
4)
and have low M.P. & B.P.
(3) weber (4) tesla
135,
(2) N,Gas

compounds because

It has strong tendency of
Which of the following is not an unit
Speed of sornd at the same
(3) O,Gas

(4) o Al o v

T ST & (MY AT/ SPA

(1) It is a non-metal and its
covalency is four.
(2;
(&) ;
catenation,
Its compounds arq combustible
of magnetic field ?
(1) weber/metre? (2) gauss
temperature will be maximum in
(1) H, Gas
(4) _Equal in all gases
CE FORROUGH WORK
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136, o quihgd gt & 0 136. The cladode among the following in
(1) wfe=tan (2)  amfmm (1) Parkinsonia (2) Acacia
(3) i (4) vERw (3) Opuntia (4) Asparagus
137. ot &1 yries Prafefaa 4 @ fras 137. Hardness of water is due to which of
FROT R & ? the followings ?
(1) Na* w K* ¥ wRwgg ol (1) Chlorides & Sulphates of Na*
AR & BT | . andK*
() Ca?* W@ Mg?* ¥ Wi ik (2) Chlorides & Sulphates of Ca?*
T & BT | and Mg?* -
(3) AP HFTRIRE A ATRZE FaEw | (3) Nitrites & Nitrates of AP*
(4) Na* @ K+ ¥ Sty & SRov | (4) ~ Carbonates of Na* and K*;
138, aopit aar wEmpat F Rl ¥ o 138. Magnetic ﬁeld«pmduoedbyelectrom
IA= AR WY W HROT Y “in atoms and molecules is due to their
(1) ast whor vy (1) spinmotiononly .
2) Fue wirg iy (2) orbital motion only
(3) =T AT wig vy S (3) spin and orbital motion both
(4) W oy nfiy 3l T & witg i (4) neither spin nor orbital motion
139. m= RS W ¥ABwem [ 139 Ifa n has anti A and B in
e e o b it oeidon v 7 Which antibodies will be
() ThEA prer i s
(2) uoderst-B (2) Antibody B
(3) I e e (3) No Antibody
(4) T A 3R B S (4) Both Antibody A & B
140. fFr=fafiaa o frad sfisay 3‘“15'? 140. Which of the following . contains
' maximum number of molecules ?
(1) 1gH, (2) 1gN, (1) 1gH, ©(2) 18N,
(3) 1gCH, (4) 18CO, (3) 1gCH, ) 1gCo,
141, 1.5 3w, 0.05 3w 747 0.25 3 3 wRry 141. Three resistors of 1.5 Q, 0.05 Q and
ﬂﬂﬂmﬁfq&ﬁ | VT 9 ety @ 0.25 €2 are connected in series. The
(1) 1.80 3 (2) 1803w uivalent resistance will be
(3) 1353w (4) "13.5 3w :;S) :ggg g} ; {gos%
1 s m . .
o :;I)ﬂ!ﬁ'-l miﬂm(?;ft;mnwﬁ 142. Which is not a true fish ?
| Nl b (3) Catfish (4) Dogfish
| 143. et Rew i 1 s 7 143. Calamine is ore of which metal ?
(1) Aeifem (2) @ 1) Magnesium (2
. (1) gn ( ; Copper
3) Fw 4) Im= (3) .Zinc Iron
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144, v 396 4 PR wwa 34 o5 il
3T uF waae st bl e il
| et &, B S s o ufemd e
) o g

(1) 13Ee (2) 13T
(3) 05TRRT  (4) - 0.5zANT
145. 99 W Ia% v & fahm= it & %en
e & qon vl & fafir= v B TR e 2
(1) ¥ash Fw
(2) et
(3) A Faw
@) iy s
146, Frefefan # @ wF wdfm ¥
(1) Rfmm - @) fdwde
B ™ 4)
147, W aE A ¥
(1) 0°C (2) O°F
(3) -273°C (4) -273K
148. U uieliferrdt Fow Rram rach e
St o gat ¥ Rt @ R g
At & 7El RO W T e | @l
&, "wrn st

(1) 2morem 1 sitedt 3 |

(2) oI F qEd T |

(3) e 1 il AR |

@) it Sfer @ ek s

144,

145.

146.

147.

148.

GETITON
Google Play

A vcomvex lens 1 focal Tength 0.5 m
and concave lons of focal  length
1 m are combined. The power ol
resulting lens will be

(1) 1D (2) -1D

(3) 05D (4) -0.5D

Which tissue is widely distributed in
the body and also forms most of the
paris of body ?

(1) Connective tissue

(2) Muscular tissue

(3) Nervous tissue

(4) ' Epithelal tissue
Which;+of 5 the - following is a
compound?- ' .

(1) Petroleum - (2) Kerosene oil

(3) Mik (4) - Glucose .
Minimum possible temperature is |
(1) o0°C: (2) O°F ‘
3) -2713°C 4) +-273K

An epithelial tissue which has thin e
fat cells arranged edge to edge so as '
to appear like closely packed tiles, is |
found

(1) Inner lining of Stomach

(2) Outer surface of Ovary

(3) Inner lining of Cheeks

(4) Inner lining of Fallopian tube

: ' 149. Which of the following is not
149, i R B W A 0 A R method of conecen?ntion e
(1) %A fafe 1) Froth Flotation Method
(2) mﬁﬁ § gl:lgpetip Method
cinatio
g; Tt guaRr faf 4 Gravit:ti‘o:al Separation Method
150. E:?*?WMMWWf 150. :V?;Lgl:.t of a body at the centre of
zeto
. §§] 1o tea than welght on ol
i on poles
8; ‘I‘T“}E iﬁ:ﬁﬂﬂ s 4 litlleto less than weight at
Rrgaat equator.

T %12 % 4T ITE / SPACE FOR ROUGH WORK
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W
IV (B)
S & OTHER SUBJECTS

TS FrAfelRad M1 & Ut & 39T Hae @) ¥ A1 IR IR oI Ud
forem = fgmmea gt

Candidates should answer the questions from the following part only if they have opted
for SOCIAL STUDIES & OTHER SUBJECTS.

91.

92.

93.

94.

95,

96.

97.

98.

99.

ﬁﬂ?ﬂmﬁ'ﬂﬂﬁmmﬁtﬂm

o
(1)
3) “’Wﬂ!ﬂ mg) fﬂﬂ
G) deomw () @
Wm#maﬁaﬁa&
u‘twmaﬁth
10 R 1948

(1) 10 1949 (2)
(3) 10Rm=T1947 (4) 10 R 1946

?Mﬁwsoﬁm-mm

§ Seaar

(3) Farm = vt @
(4) EEd T £}
aﬂmﬁgﬂm% 3
1) WX 16 2) FSR 17
%3) DT 18 |/ (4; IWT 1987
L LI B m‘gﬁﬁﬂam
=1 g2t / w@t IWCw
e -II
83 fasy amam (i) 31 360
favitg Gimlq!ﬂ (i) 3. _312
T . 368
83 #ﬁmﬁm j ?1:3 . 280
d
(| (u m

e = 3f
(1)2 l (2)3 2 (3)4:3 (4)5:4

T f gieen s & maw §

( fow

¢} fﬁ'&; e
k) .

EJ mm

91.

92.

. 93.

94,

96.

9.

98.

99.

Which one of the following States
does not form border with adesh ?

1) Manipur Meghalaya
§3; Mlzogam 54; Tripura
Bailadila mines are known for

%l} Gold i } Mica
3 Iron—ore . 4) ' . Diamond
Assembly of Uﬂ .0, passed
thc Decla:anon of Hun
IO Decem
e %:; om0
an
1 Rgasman & Andhra Pradesh
gz Rajasthan & Kamataka
3 Andhra Pradesh & Gujarat
4) Tamil Nadu & Rajasthan

T3"’ Amendment of Indian Constitution
is associated with

1) Centre-State Relation

2) Powers of Supreme Court

3) Powers of Election Commission
}4 Panchayati Raj System
Abolition of Untouchability is
associated Wll

1) Articlel 2) Adticle 17
3) Anricle 18 (4)_  Article 19

atch List-1 with List-II and select the
correct answer from codes given below :
List-1  List-1I
(a) Finance (i) Art. 360
Commission .-

(b) Fmancml (ii) Art. 312

« Ravsatha {iii Art. 368

Constltutlonal iv) Art. 280

endment

Co : :

1 i?g 8’ } im

Zi (ii Si il v

3 il v) ( i

L tw’ (l) (n i

ki i:r"‘:t o::‘* g e

(12: 3’4 '3 (:) 5:4

\"ho is théo 30-Preui ent of

\g‘%ﬂ“ uwalia
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|
10O, =17 F=nm 9 apalagg Wil sjaep &

(20)

-

(1) A= (2) zeygog .

(3)  yaw (4) TFT3R,
101. a9 | sirahawe fom

1) =gl @wifean) o

fz) siteter o

(3) =+

4) wh'rrrﬂ P
102. WA -7 g § Reg a3 sty

Ligoed i) E

(1) wdk

(2y nReR

(3)

m(4) Tﬁrmt '
103,

(1) =i () o

(3) mﬁ-hé?) TR i
104, !;r)mmm_m_ a;rh

IR @ et

ES) I (4) e

108. Frddar gafm ke

(1) o sHahm - o s
3] %?am -ﬁa'a:hﬁr

() wEIm e w o
(4) . v zemilt g Wiy womeh

106. AR B 79
(1) uw 2) Ambe
(3) wuw (4) venE
107. ﬁnﬁaﬂ:ﬁﬁﬂmmmwm
(1) Rfem
(2) TvR 3w i
() e T
(4) R qivey
108. o vfiv Yo w5 Pmifor gam oy
(1) =qavkt 2) L]
(3) wEad (4) gwed
109, aifeer 3 e oF s o Provan

(1) 63w, 1945 3 |
(2) 9 amem, 1945 W |
(3) 7 3mw, 1944 W
(4) 15 37|y, 1943 9 )

TR o wner okl few ot
Lok & n
- (@) 1961

(1) 1960
@A) 192 4) 1963.

t10.

o

GETITON
Google Play

ML International mstitnbion  related 1o
child welfare
(1) 1L.0 (2) W.HO.
(3) UNICEF (4) F.A.O.

101. Where is Angkorwat situated in
modern time ? :

1) Kampuchea (Cambodia)
fz Sri Lanka
(3) China
(4) Myanmar
102. Which d ruled over Kannauj in
the medieval period in India ?
% RGﬁthd;raﬁhm
ar
3) Chauhans
4) Palas
103. Brihadeswara temple is situated at : -
e f!} Thanjavur ?L()mn
3) Calicut 4)— Deccan
104. Who wrote Shahnama % = - '
1} Qnu-l(hﬂm }7 Firdausi
3)~. Sheikh Sadi (4 * Kaundilya
105. Which one is correct ? = Ly
(1) Lord Comwallis @ Permanent
% Settlement
(2) Lord William ' Doctrine
. Bentinck of Lapse
(3) Lord Canning - Abolition of
Sati Pratha
(4) Lord Dalhousie - Subsidiary
Alliance
System
106. Who was Marcopolo ?
El; An explorer E2 Scientist
3) Writer 4) Publisher

107. Which of the following was the first

Indian newspaper ?
géf The Trib.pune

Times of India
Bengal Gazettes
4 oung India
108. The first underground Railway was

built in
Delhi

?; ' New York
3) London

1

gz

3

4 -

"% _ln'whlch mmﬂm e

(1) 1960 @) ., 1961

3) .I%g (4) 1963

7& h‘““
; Ty August, 1943
110,
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(27 W

1. %R w1 waifys st gt &
(1) =1 Iz o

111. Maximum consumption of coal is
attributed to

: ) 1 N
@ J s | S,
(4) asita i . :‘t“mﬂm

- 112, mmhm(ﬂdn'ﬂmﬂﬂt?

112. Which of the followi country is

(1) swmfram  (2) =R not a member of SAARC ?
: 1 2) M
() WeRE . @ e 3 Motmanean .§4}H-”_Bh’{.'£.‘?“’
113. Posflea 3 Q 2 o vt et 7t & 9 113. Wlﬁchmsﬂme'fouohnsf ing is the
(1) nrwd ) 'l{t;nsenm\'u?‘. s ,
e T O K @y
114. Profofer & R e aoahr yoit o3 - 114, Which dne of the following is not used
1Y & ftwert 3 =t Ry o £ 9 ﬁ:rulunﬁn’;_me_aseox_‘ﬂﬂglﬁ?

() frevher () whwow
(3) Pt @) Pem
119, Presfaftre o 2 we  ogr e 2

(1) -  Tidal force of the Moon -

TEETRE % FroRy (2)  Salinity in the Oc&ans
3) T W ST (3; Amgom‘fumeofthem
. (4) . S e T (4) Rate of Sedimentation
118. T 3R & efor SR 115. The ‘Death Valley® th
g;gu ‘g we ;&wﬂaﬂ) Prcferfre ﬁdﬁfoxnmal,llilnil ; iﬁgexalxgpl::}‘
() swmuder (2) whedod 2 gg%ec;fmffﬂfer
@) Rewd® () sprovdw Synclinal Valley
116. Agry veia e v 116. The M Icani in i
n mq«ﬁ : : situated?ny.én volcanic mountain is
(§; :;hﬂ‘ () US| _ L ) Hawsii Islxnd
54) Rechide (3) Chile (4) Philippines
117. ﬁqﬁh«ﬁ#hﬁeﬁmﬂm 117. In which of the following districts
W 3V (Mica) g T} ot & 9 l:d;:'; larg:st mica béif?.“%mi ?c
(1) "M ik foezam (1) Balaghat and Chhindwara
() Tord v oA (3] Tt o e
, T
54) wom i o 4 Sugnmnhagmpuﬁ,mw
118, sifem % ¥ v 118. The wam, dry and chist laden winds
| wﬁ,«“%ﬁmm blowing m-gn Plaind of US.A. are

(13" Brick Feider @ ﬂﬁ.ﬂ Roller
119. Which one of the following is

s -

ég m‘%\\ ‘ oo

S N .
120 WyR v ’

() wnidee @) by an instrutitent called

o S Qe | DRSS e



https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Adda247)

Wi
121.

122.

123.

124,

128,

126.

127.

128.

129.

130.

(1) " =amy

bag 1= wmra by e e
(1) ¥ Jvn e

(2) I Tas w2

(3) ¥y

(4) o
?ﬁﬁ*maﬁaaﬁ%ﬁwmm
(1) ' ¥ gityetaor

) ?hai‘;armﬂii’tﬂﬁ

(3) Tk smmen o Ry

(4). eI
ﬁqﬁqﬂmﬂﬁ-‘ﬁm‘mﬁm
Y Afuwt o

(2) gawre

() PEwR  (4) R
amt dhoe. R der @ wrafm & o

(0 (2 v

3) © (4). warEbTETe
mﬁwaﬁmmm
fwg g 2 ) -

(1) T (2)Q&ﬁ&

G = @) qai

ma;%q’!a@amh % )

(1) (2) arEeEie

(3) dreft e (4) d=hrem

w71 aqwvee @1 wguor @ A

[Ha 7

(n

) %ﬂm

() TR sHsE

%mﬁm ¥
wgwoy 1 HF wqaE & 2

(1) yat (2) et W

() sfmm (g LiE G

Wt B e 8 el g o

e T

(1) Tangst,

Ry

(3)

(4) mmm "

™ 7§ I0d wma F Wy W gz

w3 &t ¥ wifs

(1) whitd Reffen cx g .

(2) At & wdt e e e g ¥

3) aﬂrﬂmqﬁﬁwiw

(4) 'ir?hwuhmtnh
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121, The Bihu dance s orgmated  from
which State of India

(1) Andaman and Nicobar

(2)  Arunachal Pradesh

3)  Assam

(4) Chattisgarh

122. What is not useful {0 Increase
agricultural production 7
Fn Mechanisation in agriculture
2) Increased use of fertilizer
3)  Enhanced irrigation facilities
4) Deforestation

123. Which of the following seas has the

»

highest salinity ?

1) Red Sea
2) Dead Sea
3) Medi Sea
4) Caspian Sea
124. LP.L. is related with which game ?
gl Foot Ball 52) ocke
3) Cricket 4) Basket Ball

125. In India where the first Asian Games
is organized ?

I; Calcutta 52; Delhi
Chennai 4) Mumbai
126. Which is the National ¢ of India ?

-Hockey (2) Basket Ball
(3) Volley Bali (4) Badminton
127. Atmospheric pollution can not take
lace ll?f
?l ydrogen
2)  Carbon mono-oxide
3)  Sulphur dioxide
4 n dioxide
128, The main factor in water pollution is
Smoke
Industrial chemicals
~Ammonia
4) Soaps
129. The most recent air pollution tragedy
lrll [ndﬁ;‘\:r:aa ged
-gas tra. .
2 Hirosﬁima-bomging
N(3) Earthquake in Iran
4) Chemobyl disaster
130, In recent years the incidence of floods
has inlnorth India because :
(1) rate of sii ng has incredsed in

(2) 'g‘:’l’.ﬁ:’& tmumt destroyed in
3) ﬁm more land is used for
culfure.

4 i
0 BRESE g o oo

0



https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Adda247)

131,

132.

133.
134,
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136. ‘@i

137.
138.

139.

140.

(3)

PR LA B qremtes o
(1) HPT .@

(2) b w5 A are

(3 fawruy g
(4). T

WIRT H ® A1 =] T @) T 0
(1) am W
(3) (4)
ﬁﬁwwmfm’r%soﬂ«wﬁwm
(1)
(2) 3% foie T R A F

4)

(29)

131.

132.

133.

134,

138.

136.

137.

138.

139,

140,
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W
Which is not the conventional source
of energy ?
(1) Coal
(2)  Electricity from Nuclear energy
(3)  Solar radiations
(4) Petrol )
Which animal has become extinct in
India ?
(1) Tiger (2) Lion
(3) Chectah (4) Leopard
Rain water collected often 30 to 40

toxic

minutes of raining is not suitable for
drinking because it, i
? l; contains bacteria and dirt.
2 contains  dissolved
* chemicals.
(3} is deficient in minerals,
(4) is acidic.
Which Sultan of _Delhi imposed
Jaziya on the Brahmins also ?

Mohanimad bin Tughlaq
(2) Allauddin Khi lji
(3) Firoz Tughlag
(4) Balban
Which one of the following pairs is
not correctly matched ?

Devipatan Mandir - Tulsipur
(2)  Vrindavan Mandir - Mathura
(3)  J.K. Temples - Lucknow
(4)  Vishwanath Mandir - Varanasi
What is the Latin name of Gold ?
(l; Argentum (2; Plumbum
(3) Natrium (4) Aurum
Sharada Act fixed the minimum age
of marriage of girls and boys
respectively
(I; 14 and 18 }2{ 15 and 21
(3) l6and 22 4) 12and 16
Who is the Speaker of Uttar Pradesh
Legislative Assembly ?
(1) Mata Prasad Pandey
(2) Niaz Hussan
(3) Swami Prasad Maurya
(4) B.L. Joshi
At the 59™ National Film Awards,
who was declared the best actress 7
}l Vidya Balan

- Kareena Kapoor

§3 Priyanka Chopra
4) Rani Mukherjee
Which one of the following Indjan
State , has siﬂled & § 220 million
agreement with the World Bank ?
( e Kerala (2? Maharashtra
"1 n“‘lﬂr (AY Paftar
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() FTwEAEsA
c @) TERRA
3) "=wEAA
@ zieuwEl
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(1) WHFAT
.2 tmEw
(3) WIIRW
) FWIEIA W
143. % & SeIF (69 SR & T § o
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(ny =t ()
(3) Temr (4) ™AA
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(3) W™
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144,

@) FFEaNE ™
@ fmw@
145.

146.

4)
e} fireret & 2
(N AR
(2) =HwTARA
(3) TG A
(4) IR
148. FBfafag & 4 B9 @ @A WA
ufreser § wanT A4 o e & 2

147.

4)
W waS § A WUE £ 7
(1) 14 (2) 12
P 1 4 7

149,

150.

1000 915
10000 |TEE

1024 TRE
wH A #i T

(1)
(@)
(3
4)

F'Fﬁﬂam(l kB) feud g9 @i
s
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144.
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At the 83" Oscar Awards the best
film award was won by :
(1) The Social Network
(2) The Fighter
(3) Black Swan
(4) The King's Speech
When is ring cushion used ?
(1) During Cold
(2) During Cholera

3) During Sprain

4) Dunng Bedsore

In which type of clothes gum starch
is used ?

(1) Woollen clothes

(2) Cotton clothes

(3) Silken clothes

(4) Nylon clothes

Enzyme ptylin is present in which of
the following ?

(1) Gastric juice

(2) Pancreatic juice

(3) Saliva juice

(4) Bilejuice

The secondary colours are
(1) Orange, green, violet
(2) Red, green, violet
(3) QOrange, blue, green
(4) Orange, violet, blue

One of the following Veda is musical :
(1) Yazur Veda

(2) Sam Veda

(3) RigVeda

(4) Atharva Veda

Alluvial seil is found in

(1) North India

(2) South India

(3) Ganga-Yamuna areas
(4) Eastern India

Which of the following chemical is
not used as fruit-preservative ?

(1) Potassium Meta bisulphite

(2) Sodium Benzoate

(3) Sodium Meta bisulphate

(4) Calcium bi-carbonate

How many Swar are: in one Saptak ?
(1) 14 2 12

(3) 11 4 7

One kilobyte is equivalent to

(1) 1000 byte

(2) 10000 byte

(3) 1024 byte

None of these

(4)
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